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1] FRETHHEE 0.06 - 0.07 -
| 2 REE 007 - 007 0.06
| 3 BEREM 0.07 - 0.07 -
|4 ARV SHE 0.07 - 0.06 -
| 5] ATIERER 007 - 0.05 -
| 6] RAHHE 0.06 - 0.06 -

7 REBHLES - - - _
| 8| 6A18E BUOSEREHE 008 - - _
9| HIFYRE 0.06 - 007 -
10 FeEEREM 0.07 - 0.07 -
1] =MEEE 0.06 - . _
12| £ |VFVHHEE 0.06 - 007 -
1 % |BEEREMW 0.06 0.06 0.06 -
14 W |mamsvocsrEsmBE| 006 0.08 - -
15 = RBEBEEFECHIFS 0.06 - - -
16 HMhEULIREE 0.07 0.06 0.06 -
17 KBRER 0.06 0.06 0.07 -
18] E/vFH+ 0.05 0.06 - -
E KARER 0.05 0.05 0.06 -
| 21 UFELYREER 0.06 - 0.06 -
| 22| 6422 ERRER 0.05 - 0.06 -
| 23 BEREMN 007 0.06 0.06 -
| 24) EILFHHE 0.08 0.08 0.09 -
| 25 BRBEHHE 007 - 007 -
| 26 HRREA 0.04 0.05 - -
26 ECLLE 0.08 - 0.07 -
| 27] . REFIRER 0.06 - 0.06 -
%z 6H248 fmt j_cﬁtﬂﬁ’:iéw? 0.08 0.08 0.08 -
| 29] e RARBM 0.06 007 - 0.07
30 KNREFR 0.08 0.08 0.08 -
31 BIRER 0.08 0.07 0.07 -
E LR RE T 007 0.06 0.06 0.07
| 33 g |HRER 007 0.05 0.06 -
% 68230 E ;;::z:iém 0.06 0.05 - 0.06
| 35 = p i 0.07 0.07 0.07 0.06
36 BX&EREM 0.07 0.06 0.06 0.07
| 37| AOVREE 0.06 0.07 - 0.07
| 3] FUREEE 0.05 - 0.05 -
39| 6H248 | #&E |HEREM 0.07 0.08 - -
40 it |EwEEER 0.07 0.06 0.06 0.07
(a|eAvE | & |EEEER 007 006 0.06 007
42 X [fEIRER 0.07 0.07 0.09 0.09
43| 6168 | HE |[HEMEKERER 0.07 - - -

BIEE: T7OHENALUFL—IavHKY—RA A—R(TCS—172)




